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Problem Solving - Subtracting Tens

Read each word problem carefully. Find the difference.

1. Mark has 70 trading cards. He gives Fred 20 of them.
How many trading cards does Mark have left?

Tens | Ones
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Answer: trading cards

2.  Dan sees 30 goats on the hill. Sam sees 10 goats run away.
How many goats are left on the hill?
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Answer: goats

3.  There are 40 rabbits in the field. Then 30 rabbits hop away. How many
rabbits are left in the field?

Tens | Ones
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Answer: rabbits




Tim sees 90 animals in the zoo. He sees 60 animals in the park. How many
more animals are there in the zoo than in the park?

Tens | Ones
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Answer: animals

Ben has 40 pet dogs. Ann has 20 pet dogs. How many more dogs does Ben
have than Ann?

Tens | Ones
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Answer: dogs




